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1. On the learning curve, the learning becomes stagnant in this 
stage 
1. Stage of fluctuation 

2. Plateau Stage 

3. Initial Stage 

4. Secondary Stage 

 nuó�«d�q eç¿£¹sKýË � <�XøýË nuó�«d�q+ d�ï+_ó+ºq³T¢ ¿£q�&�TÔáT+~. 

 1. #�+#á\«<�Xø 

 2. |ÓsÄÁuó�Ö$T <�Xø 

 3. çbÍsÁ+uó� <�Xø 

 4. ~ÇrjáT <�Xø 

 

 

2. According to parents opinion “Sloppy age” is 
1. Early Childhood 

2. Late childhood 

3. Infancy 

4. Puberty 

 Ôá*¢<�+ç&�T\ n_óçbÍjáT+ ç|�¿±sÁ+ »kþeT] ejáTd�Tàµ 

 1. |�PsÁÇ u²\«<�Xø 

 2. �ÔáïsÁ u²\«<�Xø 

 3. XèÕXøe <�Xø 

 4. jáTeÇH�sÁ+uó� <�Xø 

 



 
3. Children Apperception Test (CAT) is used for the following 

children 
 1. 3 - 10 years 

 2. 2 - 5 years 

 3. 2 - 8 years 

 4. 3 - 8 years 

 ºç\¦H� n|�ÎsY�d|�üH� fÉdt¼ (CAT) nHû~ � ¿ì+~ |¾\¢\Å£� �|�jîÖÐkÍïsÁT 

 1. 3 ` 10 d�+eÔáàs�\T 

 2. 2 ` 5 d�+eÔáàs�\T 

 3. 2 ` 8 d�+eÔáàs�\T 

 4. 3 ` 8 d�+eÔáàs�\T 

 
4. A 3rd class student has a lot of ‘anger’. The best way to control 

that anger is 
 1. Over - discipline 

 2. Over - tasking 

 3. Awareness of Situations 

 4. Giving boring tasks 

 ÿ¿£ 3e ÔásÁ>·Ü $<�«]�¿ì ¿Ã|�+ #�ý² mÅ£�Øe, � ¿ÃbÍ�� n<�T|�ÚýË 

�+#û �ÔáïeTyîT®q |�<�ÆÜ 

 1. $TÜMT]q ç¿£eT¥¿£�D 

 2. Xø¿ìï¿ì $T+º |�qT\T �eÇ&�+ 

 3. |�]d¾�ÔáT\qT ne>±V�²q|�sÁÌ&�+ 

 4. $d�T>·T|�Ú{ì¼+#û |�qT\T �eÇ&�+ 

 

  



5. The cognitive developmental stage of Piaget with  
‘egocentrism’ is 

 1. Pre – Operational stage 

 2. Sensory motor stage 

 3. Concrete Operational stage 

 4. Formal Operational stage  

 |¾jáÖCñ $¿±d� <�Xø\ýË »nV�²+ ¹¿+çB¿£�Ôá uó²eqµ ¿£*Ðq <�Xø 

 1. |�PsÁÇ ç|�#�\¿£ <�Xø 

 2. �+ç~jáT ç|�#�\¿£ <�Xø 

 3. eTÖsÁï ç|�#�\¿£ <�Xø 

 4. neTÖsÁï ç|�#�\¿£ <�Xø 

 

 

6. According to Erikson, the Psycho – Social Crisis faced by 
persons in the age group of 12 – 20 years is 

 1. Role Identity – Role confusion 

 2. Autonomy - Doubt 

 3. Intimacy - Isolation 

 4. Generativity - Stagnation  

 m]¿ùd�H� ç|�¿±sÁ+ 12`20 d�+eÔáàs�\ ejîÖd�eTÖV�²+ýË �q� e«Å£�ï\T 

m<�Ts=ØHû eTHÃ kÍ+|�¾T¿£ ¿ì¢w�¼ |�]d¾ÆÜ 

 1. bÍçÔá >·T]ï+|�Ú ` bÍçÔá d�+~ó>·Æ+ 

 2. d�ÇjáT+ ç|�Ü|�Üï ` d�+<ûV�²+ 

 3. d���V¾²Ôá+ ` @¿±+Ôá+ 

 4. �Ô�Î<�¿£Ôá ` d�ï�ÆÔá 

 
  



7. The Tool that does not study children behaviour 
 1. Case study 

 2. Interview 

 3. Reflective journals 

 4. Scrapbook 

 u²\\qT n<ó�«jáTq+ #û�d kÍ<ó�q+ ¿±�~ 

 1. e«¿ìï #á]çÔá 

 2. |�]|��#áÌ 

 3. |�s�«ýË#áq |�çÜ¿£\T 

 4. çkÍØ|t�T¿ù 

 

8. A teacher told his students, “don’t study hard, study with love”. 
 From this statement, teacher enhances the following ability in 

his students 
 1. Aptitude 

 2. Attitude 

 3. Interest  

 4. Love 

 ÿ¿£ �bÍ<ó�«jáTT&�T Ôáq $<�«sÁT�\ÔÃ »¿£w�¼|�&� #á<�e<�TÝ, �w�¼|�&�  

#á<�e+&�µ n� #îbÍÎ&�T. �+<�TýË �bÍ<ó�«jáTT&�T Ôáq $<�sÁT�\ýË  

�|+bõ+~+#û kÍeTsÁÆ«+ 

 1. d�V�²È kÍeTsÁÆ«+ 

 2. yîÕK] 

 3. n_ósÁTº 

 4. ç�|eT 

 

  



9. The Child Labour Prohibition Act came into force in the year 
 u²\¿±]�¿£ ��w<ó� #á³¼+ neT\TýË¿ì eºÌq d�+eÔáàsÁ+ 

 1. 1986 

 2. 1990 

 3. 1984 

 4. 1994 

 
10. ‘More Knowledgeable Other’ (MKO) concept was introduced 

by 
 1. Jean Piaget 

 2. Hurlock 

 3. Vygotsky 

 4. Kohlberg 

 »nq«yîT®q �q�Ôá C²ãq eqsÁTµ (MKO) nHû uó²eqqT ç|�yûXø�|{ì¼qy�sÁT  

1. JH� |¾jáÖCñ 

 2. V�²s�¢¿ù 

 3. yîÕ>Ã{Ù dÓØ 

 4. ¿ÃýÙusYZ 

 

  



11. The ‘Royal way’ to learning is 
 1. Experience 

 2. Training 

 3. Motivation 

 4. Behaviour 

 nuó�«d�qeTTqÅ£� »s�Èu²³µ e+{ì~ 

 1. nqTuó�e+ 

 2. ¥¿£�D 

 3. ç�|sÁD 

 4. ç|�esÁïq 

 

 

12. “Discovery Learning” was proposed by 
 1. Skinner 

 2. Bruner 

 3. Kohler 

 4. Kafca 

 »»�$w�ØsÁD nuó�«d�qµµqT ç|�ÜbÍ~+ºq~ 

 1. d¾Øq�sY 

 2. ç�ÖqsY 

 3. ¿=�V²\sY 

 4. ¿±|�t¿± 

 

  



13. ‘Learning takes place when the number of efforts is increased 
then the errors are reduced’ stated by 

 1. Thorndike 

 2. Pavlov 

 3. Kohler 

 4. William James 

 »ç|�jáTÔ��\ d�+K« �|sÁ>·&�+ e\¢ <ÃcÍ\ d�+K« ÔáÐZ nuó�«d�q+  

ÈsÁT>·TÔáT+~µ n� #î|¾Îqy�sÁT. 

 1. <̧�sÁH�&îÕ¿ù 

 2. bÍy�ýËy� 

 3. ¿ÃV�²\sY 

 4. $*jáT+ Cñy�Tà 

 

14. According to Vygotsky - “The age of silent inner speech” 
 1. 5 years 

 2. 3 years 

 3. 2 years 

 4. 7 years 

 yîÕ>±{ÙdÓØ ç|�¿±sÁ+ »»�Xøô�Ý n+ÔásÁZÔá ç|�d�+>· ejáTd�Tàµµ 

 1. 5 d�+eÔáàs�\T 

 2. 3 d�+eÔáàs�\T 

 3. 2 d�+eÔáàs�\T 

 4. 7 d�+eÔáàs�\T 
 

 

  



15. The rule which helps a 3rd class student, who get rid off the 
habit of biting nails. 

 1. Law of Reinforcement 

 2. Law of extinction 

 3. Law of spontaneous recovery  

 4. Law of Generalization 

 3e ÔásÁ>·Ü $<�«]�¿ì »>ÃÞø�ß ¿=sÁ¿£&�+µ nHû n\y�³TqT  

eÖ�Î+#á&�+ýË �|�jîÖ>·|�&û �jáTeT+ 

 1. |�ÚqsÁÒ\q �jáTeT+ 

 2. $sÁeTD �jáTeT+ 

 3. njáTÔá� d¾<�Æ kÍÇd��«+ 

 4. kÍeÖú«¿£sÁD+ 

 

 

16. “A student who does not pass the exam, dreams that he passes 
the exam with state first rank” is 

 1. Repression 

 2. Fantasy 

 3. Displacement 

 4. Projection 

 »»|�̄ ¿£�ýË �rïsÁT�&�T ¿±� $<�«]� s�çw�¼kÍÆsTTýË yîTT<�{ì s�«+Å£�  

kÍ~ó+ºq³T¢ ¿£\\T ¿£q&�+µµ nHû~ 

 1. <�eTq+ 

 2. �dÕÇsÁ¿£\Îq 

 3. $kÍï|�q+ 

 4. ç|�¹¿�|�D 

 

  



17. Secretion released by the endocrine glands is known as 
 1. Vitamins 

 2. Hormones 

 3. Glucose 

 4. Energy cells 

 n+ÔáçkÍ$¿£ ç>·+<ó�T\T $&�T<�\ #û�d çkÍy�\T 

 1. $³$TqT¢ 

 2. V�äsÃ�qT¢ 

 3. >·Ö¢¿ÃCÙ 

 4. Xø¿ìï¿£D²\T 

 

 

18. One of the following method with the stages of problem 
identification and problem solving  

 1. Case study 

 2. Narrative 

 3. Observation 

 4. Experimental 

 ¿ì+~ y�{ìýË d�eTd�« �s�ÆsÁD ` �y�sÁD <�Xø\T �q� n<ó�«jáTq |�<�ÆÜ 

 1. e«¿ìï #á]çÔá |�<�ÆÜ 

 2. ¿£<̧�H�\ |�<�ÆÜ 

 3. |�]o\q |�<�ÆÜ 

 4. ç|�jîÖ>· |�<�ÆÜ 

 

  



19. Answering essay type questions is 
 1. Re-call 

 2. Re-learning 

 3. Recognition 

 4. Retention 

 y�«d�sÁÖ|� ç|�Xø�\Å£� Èy��T\T s�jáT&�+ nHû~ 

 1. |�Úq'd��sÁD 

 2. |�ÚqsÁuó�«d�q 

 3. >·T]ï+|�Ú 

 4. <ó�sÁD 

 

 
20. One of the following is not Thorndike’s intelligence  
 1. Abstract 

 2. Mechanical 

 3. Social 

 4. Emotional 

 ¿ì+~ y�{ìýË <ó�sÁ�&îÕ¿ù ç|�C²ã sÁ¿£+ ¿±�~ 

 1. neTÖsÁï  

 2. jáÖ+çÜ¿£ 

 3. kÍ+|�¾T¿£ 

 4. �<ûÇ>·  

  



21. Learning another language with the help of mother tongue 
 1. Positive Transfer 

 2. Negative Transfer 

 3. Zero Transfer 

 4. Bilateral Transfer 

 eÖÔá�uó²w� �<ó�sÁ+ÔÃ eTsÃ uó²w�qT HûsÁTÌ¿Ãe&�+ 

 1. nqTÅ£L\ �<�ý²sTT+|�Ú 

 2. ç|�ÜÅ£L\ �<�ý²sTT+|�Ú 

 3. XøSq« �<�ý²sTT+|�Ú 

 4. ~ÇbÍsÁô �<�ý²sTT+|�Ú 

 

22. ‘Inquiry into human faculty and its development’  
book written by 

 1. Pavlov 

 2. Erikson 

 3. Galton 

 4. Pearson 

 »�+Â¿ÕÇ] �+³T V�A«eTH� b�Í«¿£©¼ n+&� �{Ùà &îe\|tyîT+{Ùµ sÁ#ásTTÔá 

 1. bÍy�ýËy� 

 2. m]¿ù d�H�  

 3. >±\¼H� 

 4. |¾jáTsYd�H� 

 

  



23. According to RTE – 2009 teacher student ratio in primary level 
 RTE-2009 ç|�¿±sÁ+ çbÍ<̧�$T¿£kÍÆsTTýË $<�«]� �bÍ<ó�«jáTT\ �w�ÎÜï 

 1. 1 : 40 

 2. 1 : 20 

 3. 1 : 30 

 4. 1 : 25 

 

24. Number of empty cards in TAT 
 TAT eÖ|��ýË U²°¿±sÁT¦\ d�+K« 

 1. 30 

 2. 20 

 3. 10 

 4. 1 

 
 

 

25. Identify the mismatched one 
 1. Theory of formal discipline – Pavlov 
 2. Theory of identical elements – Thorndike 
 3. Theory of generalization – Charles Judd 
 4. Theory of Ideas – W.C. Bagley 
 ¿ì+~y��ýË d�]¿±� ÈÔáqT >·T]ï+#á+&� 

 1. �jáTÔá ç¿£eT¥¿£�D d¾<�Ý+Ôá+ ` bÍy�ýËy� 

 2. d�eTsÁÖ|� eTÖ\¿±\ d¾<�Æ+Ôá+ ` <̧�sY�&îÕ¿ù 

 3. kÍeÖú«¿£sÁD d¾<�Æ+Ôá+ ` #ó�Âs¢dt È&� 

 4. �<�s�ô\ d¾<�Æ+Ôá+ `  W.C. u²¹>¢ 

 

  



26. One of the following is the feature of Metacognition 
 1. Formulating questions 

 2. Self evaluation 

 3. Discussions 

 4. Responsibility 

 ¿ì+~ y�{ìýË ÿ¿£{ì d�Ç�T~Æ jîTT¿£Ø \¿£�D+ 

 1. ç|�Xø�\T sÁÖbõ+~+#á&�+ 

 2. dÓÇjáT eTÖý²«+¿£q+ 

 3. #ásÁÌ\T 

 4. u²<ó�«Ôá 

 

27. It is not an input device 
 1. Key board 

 2. Mouse 

 3. Monitor 

 4. Web camera 

 �H�|�Ú{Ù |�]¿£sÁ+ ¿±�~ 

 1. ¿¡ ` uËsY¦ 

 2. eTòdt 

 3. eÖ�³sY 

 4. yîuÙ Â¿yîTs� 

 

  



28. The author of “Home – schooling” 
 1. Gijubhai 

 2. Totto-chan 

 3. John Holt 

 4. Montessori 

 »»�VAy�T d�ÖØ*+>µ́µ |�Úd�ï¿£ sÁ#ásTTÔá 

 1. Ðpu²sTT 

 2. {¤{Ë¼#�H� 

 3. C²H�V�äýÙ¼ 

 4. eÖ+{ìkþà] 

 

 

29. The research that describes “Present State” and reflects on it 

 1. Historical  

 2. Descriptive 

 3. Experimental  

 4. Action Research  

 »»�|�Î{ì d¾�Üµµ @$T{Ë e]�+º y�«U²«�+#û |�]XË<ó�q 

 1. #�]çÔá¿£ 

 2. esÁ�D²Ôá�¿£ 

 3. ç|�jîÖ>±Ôá�¿£ 

 4. #ás�«Ôá�¿£ 

  

 

 

 
 
 
 



30. As per NEP-2020 ‘4’ in 5+3+3+4 pattern refers to 
 1. Foundational Stage 

 2. Middle Stage 

 3. Secondary Stage 

 4. Preparatory Stage 

 NEP-2020 ç|�¿±sÁ+ 5G3G3G4ýË »4µ � kÍ�sTT¿ì #î+~q~ 

 1. |�ÚH�~ kÍ�sTT 

 2. eÖ<ó�«$T¿£ kÍ�sTT 

 3. �d¿£+&�̄  kÍ�sTT   

 4. d�+d¾<�ÆÔ� kÍ�sTT 
  



(PAPER – 1A) 
Telugu

31. ¿ì+~ |�<�«�� #á~$ ç|�Xø�Å£� Èy��TqT >·T]ï+#á+&�. 

 uó�Öw�\T>±eÚ eTsÁTï«\Å£� uó�Ö]eTjáÖ+>·<� Ô�sÁV�äsÁeTTýÙ 

 uó�Öw¾Ôá ¹¿XøbÍXø eT�<�T|�Úw�Îd�T>·+<ó� Èý²_ó�w¿£eTTýÙ 

 uó�Öw�\T >±eÚ |�PsÁTw�§� uó�Öw¾ÔáT" CñjáTT �$çÔáy�Dì y� 

 >·ÖÒÛw�DyûT d�Tuó�Öw�DeTT uó�Öw�DeTTýÙ q¥sTT+#áT q��jáTTH� 

 |�<�«eTT <û�� nd�ýÉÕq n\+¿±sÁeTT>± #î|�ð#áTq�~. 

 1. uó�TÈ¿¡sÁTï\T 

 2. #á¿£Ø� eÖ³\T 

 3. |�Úw�ÎeTT\T 

 4. d�ÖsÁ«, #á+ç<�V�äsÁeTT\T 

 

32. ¿ì+~ |�<�«�� #á~$ ç|�Xø�Å£� Èy��TqT >·T]ï+#á+&�. 

 uó�Öw�\T>±eÚ eTsÁTï«\Å£� uó�Ö]eTjáÖ+>·<� Ô�sÁV�äsÁeTTýÙ 

 uó�Öw¾Ôá ¹¿XøbÍXø eT�<�T|�Úw�Îd�T>·+<ó� Èý²_ó�w¿£eTTýÙ 

 uó�Öw�\T >±eÚ |�PsÁTw�§� uó�Öw¾ÔáT" CñjáTT �$çÔáy�Dì y� 

 >·ÖÒÛw�DyûT d�Tuó�Öw�DeTT uó�Öw�DeTTýÙ q¥sTT+#áT q��jáTTH� 

 »uó�Ö]µ n+fñ 

 1. uó�Ö$T 

 2. �¿±XøeTT 

 3. >=|�Î<îÕq 

 4. eT�<�TyîÕq 

  



33. ¿ì+~ >·<�«+ #á~$ ç|�Xø�Å£� Èy��T >·T]ï+#á+&�. 

*ÏÔá kÍV¾²Ôá«+ ¿£+fñ #�ý² çbÍNqyîT®q~ eTòÏ¿£ kÍV¾²Ôá«+. eTòÏ¿£ 

kÍV¾²Ôá«+ m+Ôá çbÍNqyîT®+<Ã n+Ôá d�JeyîT®+~. �~ �sÁ+ÔásÁ+  

ÿ¿£] HÃ{ì qT+º eTsÃ HÃ{ìýË¿ì e#ûÌ esÁÅ£� sÁÖbÍ+ÔásÁ+ #î+<�TÔáÖ,

d�JekÍ�H��� @sÁÎsÁ#áTÅ£�+³T+~. eTTK«+>± eTòÏ¿£ kÍV¾²Ô�«�¿ì ¿£sÁï 

�+&�sÁT. mesÁT çbÍsÁ+_ókÍïsÃ Ôî*jáT<�T. <��¿ì �jáTeÖ\T ýñeÚ.  

<��� �dÇ#�ÌÛ kÍV¾²Ôá«eT� Å£L&� |¾\ee#áTÌ. 

¿ì+~ y�{ìýË d�ÂsÕq <��� >·T]ï+#á+&� 

 m. eTòÏ¿£ kÍV¾²Ôá«+ *ÏÔá kÍV¾²Ô�«�¿£H�� çbÍNqyîT®q~ 

 _. eTòÏ¿£ kÍV¾²Ôá«+ eÖsÁ�~ 

 d¾. eTòÏ¿£ kÍV¾²Ô�«�¿ì �jáTeÖ\T ýñeÚ 

 &�. eTòÏ¿£ kÍV¾²Ôá«+ d�Je+ ¿±�~ 

 1. m, _, d¾, &� 

 2. m, _ 

 3. m, d¾, &� 

 4. m, d¾ 
 

34. ¿ì+~ >·<�«+ #á~$ ç|�Xø�Å£� Èy��T >·T]ï+#á+&�. 

 *ÏÔá kÍV¾²Ôá«+ ¿£+fñ #�ý² çbÍNqyîT®q~ eTòÏ¿£ kÍV¾²Ôá«+. eTòÏ¿£ 

kÍV¾²Ôá«+ m+Ôá çbÍNqyîT®+<Ã n+Ôá d�JeyîT®+~. �~ �sÁ+ÔásÁ+  

ÿ¿£] HÃ{ì qT+º eTsÃ HÃ{ìýË¿ì e#ûÌ esÁÅ£� sÁÖbÍ+ÔásÁ+ #î+<�TÔáÖ,

d�JekÍ�H��� @sÁÎsÁ#áTÅ£�+³T+~. eTTK«+>± eTòÏ¿£ kÍV¾²Ô�«�¿ì ¿£sÁï 

�+&�sÁT. mesÁT çbÍsÁ+_ókÍïsÃ Ôî*jáT<�T. <��¿ì �jáTeÖ\T ýñeÚ.  

<��� �dÇ#�ÌÛ kÍV¾²Ôá«eT� Å£L&� |¾\ee#áTÌ. 

 �dÇ#�ÌÛ kÍV¾²Ôá«eT� B�¿ì �|sÁT 

 1. *ÏÔá kÍV¾²Ôá«+ 

 2. eTòÏ¿£ kÍV¾²Ôá«+ 

 3. Xæd�q kÍV¾²Ôá«+ 

 4. |�Ús�D kÍV¾²Ôá«+ 
 



35. 3e ÔásÁ>·Ü »H� u²\«+µ bÍsÄÁ+ýË � ¿£Þ²¿±sÁT� >·T]+º #îbÍÎsÁT 

 1. H�ÈsY 

 2. ºqeTòý²H� 

 3. �kÍ�sTTýÙ 

 4. U²~sY 

 

36. \jáTÅ£� çbÍ<ó�q«+ �d�Öï eÖçÔ� #óá+<�d�TàÔÃ kÍ¹> sÁ#áq 

 1. y�«d�+ 

 2. ¿£<̧� 

 3. e#áq+ 

 4. ^Ôá+ 

 
37. »d¾�>·Æµ n+fñ 

 1. eT�<�TyîÕq 

 2. d�Ç#áÌÛyîT®q 

 3. d¾Â>Õ Zq 

 4. yîTÔáïHîÕq 

 
38. }]¹¿ HÃsÁT bÍ¹sd�T¿Ãe&�+ eT+º~ ¿±<�T.  

^Ôá ^d¾q |�<�+ 

 1. C²rjáT+ 

 2. H�qT&� 

 3. kÍyîTÔá 

 4. bõ&�T|�Ú ¿£<̧� 



 

39. »Ôî\T>·T _&�¦µ! eTÅ£�³+ÔÃ |�<�«\T n+~+ºq~. 

 1. ¿£sÁTDl 

 2. ll 

 3. H�sÁ¢ ºsÁ+J$ 

 4. H�sÁ¢ yû+¿£fñXøÇsÁs�eÚ 

 

40. s�E yû>·+>± q&�Td�TïH��&�T.  

^Ôá ^d¾q |�<�+ 

 1. ç¿ìjáT 

 2. $Xâw�D+ 

 3. d�sÁÇH�eT+ 

 4. ç¿ìjáÖ$Xâw�D+ 

 

41. »e�<̧�µ ¿ì $¿£�Ü |�<�+ 

 1. e�Ôá 

 2. $Ôá 

 3. e«sÁ� 

 4. e«Ôá 

 

42. »¿£bþ\+µ |�<��¿ì |�s�«jáT|�<�\T 

 1. ¿£bÍ\+, |�ÚçÂs 

 2. Ôá\, eTd�ï¿£+ 

 3. #î¿ìØ*, �T>·Z 

 4. ÿ&�, �Ôáà+>·+ 



43. È\Èý² Å£�sÁTkþï+~ y�q 

 >·\ >·ý² Å£�sÁTkþï+~ y�q ` � y�¿£«+ýË �q� ¿±\+ 

 1. Ôá<�ÆsÁ� ¿±\+ 

 2. uó�$w�«ÔY ¿±\+ 

 3. esÁïeÖq ¿±\+ 

 4. uó�ÖÔá ¿±\+ 

 

44. Ôî\T>·T uó²w�ýË *+>· $uó²>±�� �ý² |¾\TkÍïsÁT. 

 1. y�#á¿£+ 

 2. ny�#á¿£+ 

 3. �|�y�#á¿£+ 

 4. y�#á¹¿ÔásÁ+ 
 

45. ÿ¿£ y�¿£«+ýË »»mesÁTµµ nHû |�<��¿ì d�eÖ<ó�q+>± e#ûÌ  

y�{ì� �ý² |¾\TkÍïsÁT. 

 1. ne«jáT+ 

 2. ç¿ìjáT 

 3. ¿£sÁ� 

 4. ¿£sÁï 

 

46. ÿ¿£ ç¿ìjáÖ |�<�+ y�¿±«�� |�P]ï #ûjáTýñ¿£ bþÔû ` n~. 

 1. nd�eÖ|�¿£ ç¿ìjáT 

 2. d�eÖ|�¿£ ç¿ìjáT 

 3. n¿£sÁ�¿£ ç¿ìjáT 

 4. d�¿£sÁ�¿£ ç¿ìjáT 



47. ¿ì+~ |�<��+<ó�\ýË nÔáïÇd�+~ó �q� <��� >·T]ï+#á+&�. 

 1. s�eTT&=#�Ì&� 

 2. y�&îesÁT 

 3. <�¹s~ 

 4. ºq�|�ÚÎ&�T 

 

48. uó²qT G �<�jáT+ ¿£*|¾ s��dï 

 1. uó²qT<�jáT+ 

 2. uó²qT�<�jáT+ 

 3. uó²qÖ<�jáT+ 

 4. uó²HÃ<�jáT+ 

 

49. d�uó²uó�eq+ nHû d�eÖkÍ�¿ì $ç>·V�² y�¿£«+ 

 1. d�uó� jîTT¿£Ø uó�eq+ 

 2. d�uó� ÔÃ&� uó�eq+ 

 3. d�uó� jáT+<�T uó�eq+ 

 4. d�uó� ¿=sÁÅ£� uó�eq+ 

 

50. eTV�äÔáT�&�T �q�Ôá+>± ç|�e]ïkÍï&�T. 

 � y�¿£«+ýË �q� d�eÖd�+  

 1. �V�QçMV¾² 

 2. ~Ç>·T 

 3. <�Ç+<�Ç+ 

 4. ÔáÔáTÎsÁTw�+ 
 

 



51. Xø¿ìï ` |�<��¿ì >·TsÁT \|��TTeÚ\T 

 1. U I 

 2. I I  

 3. I U  

 4. U U 

52.  �|�eÖq �|�jûTjáÖ\Å£� #á¿£Ø� bþ*¿£ #î|�Î&�yûT 

 1. d�Çuó²yÃ¿ìï n\¿±sÁ+ 

 2. �çÔûÎ¿�±\+¿±sÁ+ 

 3. �|�eÖ\+¿±sÁ+ 

 4. sÁÖ|�¿±\+¿±sÁ+ 

 

53. �sÁÒÛjáT+>± J$+#�\� �¥+#á&�+ ÔábÍÎ? ` �~ 

 1. �osÁsÁ�¿£+ 

 2. çbÍsÁÆH�sÁ�¿£+ 

 3. �XøÌjáÖsÁ�¿£+ 

 4. ç|�Xæ�sÁ�¿£+ 

 

54. eÖqd¾¿£+>± m~ÐqfÉ® ¢Ôû ` � y�¿±«+Xø+ �#ûÌ nsÁ�+ 

 1. #û<�sÁ�¿£+ 

 2. XøçÔásÁ�¿£+ 

 3. ç|�Xæ�sÁ�¿£+ 

 4. ¿±ïÇsÁ�¿£+ 
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55. eÖqeÚ�ýË� eÖqeÔ�Ç�� ç|�uË~ó+|�CñjáT&�yûT $<�« \¿£�«eT� 

�|s=Øq�~. 

 1. �]Ç+>́ d�¼H� 

 2. *$+>´ d�¼H� 

 3. eÖ]�+>´ d�¼H� 

 4. eTÖ$+>́ d�¼H� 

 

56. �ÔásÁT\ ¿Ãd�+ �ÐbþÅ£�+&� $<�«sÁT�\T ÔáeT Xø¿ìï kÍeTs�Æ«\qT 

�{ì¼ eTT+<�TÅ£� kÍ>·&��¿ì ne¿±Xø+ �q� �ÔáïeT |�<�ÆÜ @~. 

 1. e«¿ìï>·Ôá |�<�ÆÜ 

 2. #ás�Ì |�<�ÆÜ 

 3. ç¿¡&� |�<�ÆÜ 

 4. &�\¼H� |�<�ÆÜ 

 

57. jáTÖ�{Ù |�̄ ¿£� ÔásÁ>·Ü >·~ýËHû @ ¿±\ e«e~óýË �sÁÇV¾²kÍïsÁT. 

 1. 20 ` 30 �$TcÍ\ýË 

 2. 30 ` 40 �$TcÍ\ýË 

 3. 40 ` 50 �$TcÍ\ýË 

 4. 50 ` 60 �$TcÍ\ýË 

 



58. �<�ÔáïyîT®q uó²y�\qT nÔá«+Ôá d�eTTºÔáyîT®q |�<�\ÔÃ Å£LsÁÌ&�+ 

 1. ¹>jáT+ 

 2. |�<�«+ 

 3. ¿£$ÔáÇ+ 

 4. >·<�«+ 

 

59. eTq d�eT¿£�+ýË ýñ� y�]ÔÃ e«eV�äs��¿ì #û�d *ÏÔá sÁ#áq 

 1. |�<�« sÁ#áq 

 2. >·<�« sÁ#áq 

 3. ¿£$ÔáÇ sÁ#áq 

 4. ýñU² sÁ#áq 

 

60. $<�«sÁT�\T ÔáeTÅ£� Ô�eTT>± nsÁ�+ #ûd�T¿=Hû $<ó�+>± |�]$TÔá 

|�<�C²\+ÔÃ sÁÖbõ+~+#á�&�+~ 

 1. |�<�«+ 

 2. >·<�«+ 

 3. y�«¿£sÁD+ 

 4. �|�y�#á¿£+ 

 

 

 

  



        English Paper – IA
61. Raju along with his friends, _______ to Delhi. 

Choose the correct form of the verb to fill in the blank. 

1. were gone 
2. have gone 
3. has gone 
4. are gone 

62. I suppose you are hungry, ______ 

The correct question tag for this sentence is 

1. do I? 
2. aren’t you? 
3. don’t I? 
4. do you? 

63. Swami said, “I’m speaking the truth, sir.” 

The reported clause in the sentence above is 

1. a statement 
2. a prepositional phrase 
3. a conditional clause 
4. a request 

64. Choose the verb that cannot be used in  
present continuous tense.  

1. like 
2. explain 
3. complain 
4. shoot 



65. Choose the plural noun form of the following. 

 1. analysis 
 2. crisis 
 3. fungus 
 4. criteria 
 

66. Choose the grammatically correct sentence. 

 1. I had a three-hour journey 
 2. I had a three-hours journey 
 3. I had a journey of three hour 
 4. I had a three hours journeys 
 

67. I thought our game would get rained out. 

 In the above sentence ‘would’ is used to express 

 1. a future perfect time  
 2. a polite request 
 3. success in the past 
 4. prediction in the past 
 

68. The rocket is going ______ the moon. 

 Choose the word that fits the blank. 

 1. since 
 2. from 
 3. along 
 4. towards 
 

69. Choose a complex sentence. 

 1. He is a great poet 
 2. Are you busy? 
 3. He behaves as if he were a minister. 
 4. He is not only a singer but also a dancer. 



70. I walked up the stairs cautiously. __________  
I nearly fell twice. 

 Choose the word that can link the two sentences. 

 1. Even though 
 2. And therefore 
 3. So that 
 4. Even so 
 

71. Choose a compound sentence. 

 1. She was singing a song. 
 2. She made a promise and she helped me. 
 3. She promised because she had an obligation. 
 4. If you agree, I will come with you. 

 

72. They will buy a house. 

 Choose the passive voice verb for this sentence. 

 1. will be bought 
 2. is to be bought 
 3. was bought 
 4. will bought 

 

73. Choose the synonym of the word underlined. 

 There were many white cranes in the lush green paddy fields. 

 1. free 
 2. laden 
 3. growing 
 4. rough 

 



74. Choose suitable prefix to get opposite of the word ‘perfect’. 

 1. in 
 2. im 
 3. dis 
 4. mis 

 

75. I feel like giving up smoking. 

 The meaning of the expression ‘giving up’ is 

 1. to remove 
 2. to take rest 
 3. to turn into 
 4. to stop doing something 
 

76. It was _____ first time the prize was awarded to _____ Asian. 

 Choose the correct articles to complete the sentence above. 

 1. a, the 
 2. the, an 
 3. an, the 
 4. the, a 

 

77. Yes, Kohli is my favourite batsman. 

 Choose the correct question to get above sentence  
as the answer. 

 1. Who is your favourite batsman? 
 2. What is Kohli? 
 3. Is Kohli your favourite batsman? 
 4. Are Kohli your favourite batsman? 

 



78. Choose the correct statement with correct capitalization. 

 1. I am Thandi from south africa. 
 2. I am thandi from south africa. 
 3. I am thandi from South Africa. 
 4. I am Thandi from South Africa. 
 

79. In a formal letter ‘Heading’ consists of 

 1. Closing part 
 2. Date & Place 
 3. Salutation 
 4. Subscription 
 

80. Choose the word you find between the following  
guide words “kiwi - knit”. 

 1. king 
 2. kitty 
 3. knob 
 4. knife 
 

81. When the word ‘move’ takes the suffix ‘able’ the  
correct spelling of it is 

 1. moveable 

 2. movable 
 3. moveabel 
 4. movaeble 
 

82. Choose the prefix that means forward. 

 1. mono 
 2. pro 
 3. intro 
 4. bene 



83. Read the following passage. 

 Some parents and teachers argue that giving too much 
homework limits the after school activities of children. They 
say it is beneficial to a child’s academics. But the experts say 
that reducing the play time of children will cause the growing 
obesity cases.  

 Parents and teachers think that too much homework 

 1. destroys the academics of students 
 2. is beneficial to the academics of children 
 3. increases their play time 
 4. leads to the growth of obesity cases. 
 

84. Read the following passage. 

 Some parents and teachers argue that giving too much 
homework limits the after school activities of children. They 
say it is beneficial to a child’s academics. But the experts say 
that reducing the play time of children will cause the growing 
obesity cases.  

 The reason for growing obesity cases is 

 1. reducing the play time of children 
 2. allowing children to play in the evenings 
 3. giving less amount of home work 
 4. allowing children to participate in after school activities 

 

85. ‘Table Alphabetical’ was created by _________ 

 1. Robert Cawdrey 
 2. Bentinck 
 3. Piaget 
 4. Gattengo 

 



86. In modern days, the teacher need not be  

 1. a researcher 
 2. a social engineer 
 3. a facilitator 
 4. a technician 
 

87. A student reading a word or a phrase again by going back in the 
line is called 

 1. scanning 
 2. skimming 
 3. regression 
 4. collaboration 

 

88. Choose the word / phrase that does not indicate  
methods of reading. 

 1. word method 
 2. sentence method 
 3. story method 
 4. organic method 
 

89. A sentence is the ‘unit of speech’ in 

 1. Direct Method 
 2. Bilingual Method 
 3. Natural Method 
 4. Suggestopedia 
 

90. The most important element to be considered while  
using TLM in the class is 

 1. availability 
 2. relevance 
 3. beauty 
 4. size 
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      Mathematics 

91. How many integers are there in between –5 and +5 
–5 eT]jáTT G5 \ eT<ó�« m�� |�PsÁ�d�+K«\T ¿£\eÚ 

1. 10 
2. 8 
3. 9 
4. 11 

  
92. Find the value of ‘A’ in the following 

1 A
X A
A 9

  (X denotes product) 

 ç¿ì+~ >·TD¿±sÁ+ýË ‘A’ $\Te ¿£qT>=qTeTT 

1 A
X A
A 9

  (X >·TD¿±sÁ d�+Èã� d�Öºd�Tï+~) 

1. 1 
2. 2 
3. 3 
4. 4 

  



93. Six bells commence tolling together and toll at intervals  
2, 4, 6, 8, 10 and 12 seconds respectively. At what time do they 
toll together (in seconds) 

 6 >·+³\T 2, 4, 6, 8, 10 eT]jáTT 12 �d¿£+&�¢ ¿±\e«e~óýË  

çyîÖ>·&�+ yîTT<�\T�|{²¼sTT. n$ @ d�eTjáÖ�¿ì ÿ¹¿kÍ]  

¿£*d¾ çyîÖ>·TÔ�sTT. (�d¿£q¢ýË)  

 1. 30 

 2. 60 

 3. 90 

 4. 120 

 
94. The area of a square with side ‘x’ units is double the  

area of a triangle with base ‘x’ units, then the altitude of  
the triangle is (in units)  

 ‘x’ jáTÖ�³T¢ uó�TÈeTT>±>·\ #áÔáTsÁçd�+ jîTT¿£Ø yîÕXæ\«+, 

 ‘x’jáTÖ�³T¢ uó�Ö$T>±>·\ çÜuó�TÈ yîÕXæý²«�¿ì Âs{ì¼+|�Ú nsTTq,  

çÜuó�TÈ+ mÔáTï (jáTÖ�³¢ýË) 

 1. 
2
x   

 2. x  
 3. 2 x  
 4. 4 x  
 

  



95. The value of 4l . 500 ml ¸ 4 
 1. 1l . 100 ml 
 2. 1l . 125 ml 
 3. 2l . 200 ml 
 4. 5l . 500 ml 

 4 ©. 500 MT.©. ¸ 4 $\Te 

 1. 1 ©. 100 $T.©. 

 2. 1 ©. 125 $T.©. 

 3. 2 ©. 200 $T.©. 

 4. 5 ©. 500 $T.©. 

 
96. When we see the letter ‘M’ vertically in the mirror the image is 
 ‘M’ nqT n¿£�s��� n<�Ý+ýË �\TeÚ>± #áÖºq|�ÚÎ&�T <�� ç|�Ü_+�+ 

1. M 
2. 

M
 

3. M
 

4. W 
 
97. The fourth proportional of 5, 8, 15 is  
 5, 8, 15 \ jîTT¿£Ø 4e nqTbÍÔá+ 

 1. 18 
 2. 20 
 3. 21 
 4. 24 
 

  



98. Simplify 1 1
1 1m mx x- +
+ +

  

 1 1
1 1m mx x- +
+ +

d�Ö¿¡��¿£]+#á>± 

 1. 0 
 2. 1 

 3. -1   
 4. 2 
  

99. If the radius of a circle is increased by 50%, then its area is 
increased by the percent  

 ÿ¿£ e�Ôáï y�«kÍsÁ�+ 50% �|+ºq <�� yîÕXæ\«+ q+<�T �|sÁT>·T<�\  

XæÔá+ 

 1. 50 
 2. 75 
 3. 100 
 4. 125 
  

100. Value of 3 1331    

 3 1331  $\Te  

 1. 11 
 2. 21 
 3. 19 
 4. 9 
  

  



101. ‘6’ water taps can fill a tank within 1 hour 20 minutes then ‘5’ 
water taps can fill the same tank within the minutes 

 ÿ¿£ {²«+Å£�qT 6 ú{ì Å£�Þ²sTT\T 1 >·+³ 20 �$TcÍ\ýË �+|¾q  

5 Å£�Þ²sTT\T � {²«+Å£�qT �+|�Ú³Å£� |�³T¼ ¿±\eTT �$TcÍ\ýË 

 1. 90 
 2. 96 
 3. 94 
 4. 93 
 
102. In the following “2x + 3 = 9” represents 
 1. equation 
 2. expression 
 3. definite statement 
 4. ‘x’ is constant 
 ç¿ì+~ y��ýË »»2x + 3 = 9µµ <û�� d�Öºd�Tï+~  

 1. d�MT¿£sÁDeTT 

 2. d�eÖd�eTT 

 3. KºÌÔáyîT®q y�¿£«eTT 

 4. ‘x’ d¾�s�+¿£+ 
  



103. Solve 1 1
2 4 3 2
x x
- = +  

 1 1
2 4 3 2
x x
- = +  qT kÍ~ó+#áTeTT 

 1. x = 9
2

 

 2. x = 8
2

 

 3. x = 5
2

 

 4. x = 7
2

 
 

104. Write all the prime factors of 48 
 48 ¿ì >·\ n�� ç|�<ó�H�+¿±\T çy�jáT+&� 

 1. 2 22 3´  

 2. 23 3´  

 3. 4 22 3´  

 4. 42 3´   

105. The name of the property 3 1 3 12 2 2
5 2 5 2
é ù é ù é ù+ = +ê ú ê ú ê úë û ë û ë û

 

 1. closure property 
 2. associative property 
 3. identity property 
 4. distributive property 

 
3 1 3 12 2 2
5 2 5 2
é ù é ù é ù+ = +ê ú ê ú ê úë û ë û ë û

 ýË �q� <ó�sÁ�+ 

 1. d�+e�Ôá <ó�sÁ�+ 

 2. d�V�²#ásÁ <ó�sÁ�+ 

 3. ÔáÔáàeT <ó�sÁ�+ 

 4. $uó²>· H�«jáT+ 



106. In a school 3 rooms are required for 60 students, if 400 students 
are there, then the number of rooms required are 

 ÿ¿£ bÍsÄÁXæ\ýË 60 eT+~ $<�«sÁT�\Å£� 3 >·<�T\T ¿±eýÉqT.  

� bÍsÄÁXæ\ýË 400 eT+~ $<�«sÁT�\Å£� ¿±e\d¾q >·<�T\T 

 1. 20 
 2. 40 
 3. 25 
 4. 30 
 

107. The angles of a triangle are in the ratio of 2 : 3 : 1 one of those 
angles is  

 ÿ¿£ çÜuó�TÈ+ýË ¿ÃD²\ �w�ÎÜï 2 : 3 : 1 nsTTÔû çÜuó�TÈ+ýË  

ÿ¿£ ¿ÃD+ 

 1. 40° 
 2. 60° 
 3. 80° 
 4. 100° 
 

108. The cost of painting a cuboid with dimensions  
20cm ´ 15cm ´ 12cm at the rate of 5 paise per  
square centimeter (in rupees) 

 20 �d+.MT ´ 15 �d+.MT. ´ 12 �d+.MT. ¿=\Ôá\T>± >·\  

BsÁé|��TH��¿ì sÁ+>·TyûjáTT³Å£� #á<�sÁ|�Ú �d+{¡MT³sÁTÅ£�  

5 �|Õd�\T #=|�ÚÎq njûT« KsÁTÌ (sÁÖbÍjáT\ýË) 

 1. 82 

 2. 72 

 3. 102 

 4. 260 

 



109. If a shopkeeper announces his articles marked price as 25% 
more than the cost price and allows 12% discount than how 
much percentage of profit he will get 

 ÿ¿£ <�T¿±D<�sÁT&�T Ôáq ed�TïeÚ\ ç|�¿£³q <ó�sÁqT ¿=q�yî\ ¿£H��  

25%n~ó¿£+>± �sÁ�sTT+º 12% &�kåØ+{Ù �ºÌq nÔá�¿ì e#áTÌ  

ý²uó�XæÔá+m+Ôá? 

 1. 5% 
 2. 10% 
 3. 15% 
 4. 20% 
 
110. Mode of some quantities is x, if ‘3’ is subtracted from each 

quantity then mode of new data is 
 ¿=�� s�Xø�\ �V�QÞø¿£eTT x, <�Ô�ï+Xø+ýË� ç|�Ü s�¥ qT+&�  

3 rd¾yûjáT>± e#ûÌ ¿=Ôáï <�Ô�ï+XøeTTqÅ£� u²V�QÞø¿£eTT 

 1. 3 x 

 2. x -3 
 3. x +3 

 4. 1
3

 

111. The radius of a circular shaped park is 40m. A path of width 
7m. is laid around outside the park. The area of circular path is 
(in cm2) 

 e�Ô�ï¿±sÁ bÍsYØ y�«kÍsÁ�+ 40 MT. <�� #áT³Ö¼ �jáT³ 7 MT. yî&�\TÎ

u²³ ¿£\<�T. nsTTq � u²³ yîÕXæ\«+ (#á.�d+.MT.ýýË) 

 1. 1924 
 2. 1914 
 3. 2024 
 4. 2044 
 
 



112. Find the perimeter of the rectangle whose sides are 6x + y and 
3x - 2y is  

 6x + y eT]jáTT 3x - 2y \ bõ&�eÚ yî&�\TÎ\T>± >·\ BsÁé#áÔáTsÁçd�+ 

jîTT¿£Ø #áT³T¼ ¿=\Ôá 

 1. 18x + 4y 

 2. 18x - 2y 

 3. 6x - y 

 4. 18x - y 

 

113. If three or more points are on the same line, then they  
are called 

 1. coplanar points 
 2. collinear points 
 3. coplanar lines 
 4. collinear lines 

 eTÖ&�T ýñ<� n+Ôá¿£q� mÅ£�Øe _+<�TeÚ\T ÿ¹¿ ¹sK�|Õ eÚ+fñ n$ 

 1. d�Ôá©jáT _+<�TeÚ\T 

 2. d�¹sFjáT _+<�TeÚ\T 

 3. d�Ôá©jáT ¹sK\T 

 4. d�¹sFjáT ¹sK\T 

 

114. Number of edges of a cube is 
 d�eT |��Tq+ jîTT¿£Ø n+#áT\ d�+K« 

 1. 6 
 2. 8 
 3. 12 
 4. 14  

 



 

   Maths Methodology

115. The counting process of Greeks is 
1. Arithmetica 
2. Logistica 
3. Philosophica 
4. Platonica 

 ç^Å£�\ >·Dq $<ó�q+ 

 1. nsÁ�yîT{ì¿± 

 2. ý²�d¾¼¿± 

 3. |�¾ý²d�|�¾¿± 

 4. �|¢{Ë�¿± 

 

116. The percentage of problem solving in 50 marks summative 
assessment is  
50 eÖsÁTØ\Å£� �sÁÇV¾²+#û d�+ç>·V�²D²Ôá�¿£ eT~+|�ÚýË d�eTkÍ«kÍ<ó�q 

XæÔá+ 

1. 25% 
2. 30% 
3. 40% 
4. 50% 

  



117. Most important book in Mathematics library is 
 1. Class textbooks 
 2. Tables book 
 3. Mathematic dictionary 
 4. Work book 
 >·DìÔá ç>·+<̧�\jáT+ýË eÚ+&�e\d¾q eTTK« ç>·+<̧�+ 

 1. ÔásÁ>·Ü bÍsÄÁ«|�Úd�ï¿±\T 

 2. m¿±Ø\ |�Úd�ï¿£+ 

 3. >·DìÔá &�¿£ �q¯ 

 4. nuó²«d� |�Úd�ï¿£+ 

 

118. CCM – means 

 CCM - nq>± 

 1. Content Cum Management 
 2. Creative Commons Market 
 3. Content Cum Methodology 
 4. Current Content Management 
 
 

119. The prime goal of mathematics education at primary level is  
 1. Mathematics made easy 
 2. Mathematisation of children thinking 
 3. Mathematics syllabus design 
 4. Understanding every day maths 
 çbÍ<̧�$T¿£ kÍ�sTTýË >·DìÔá $<�« ç|�<ó�q >·eT«+ 

 1. >·DìÔ��� d�T\uó�ÔásÁ+ #ûjáT&�+ 

 2. |¾\¢\ �ýË#áq\qT >·Dìr¿£]+#á&�+  

 3. >·DìÔá bÍsÄÁ«ç|�D²[¿£\qT  ÔájáÖsÁT#ûjáT&�+ 

 4. sÃEy�¯ J$Ôá+ýË y�&û >·DìÔ��� nsÁ�+#ûd�T¿Ãe&�+ 



120. This is not a problem solving method 
 1. Restatement method 
 2. Analysis method 
 3. Method of Analogies 
 4. Geometrical method 
 �~ d�eTkÍ« |�]cÍØsÁ |�<�ÆÜ ¿±<�T 

 1. |�Úq'ç|�e#áq |�<�ÆÜ 

 2. $Xâ¢w�D |�<�ÆÜ 

 3. kÍ<��Xæ«\ |�<�ÆÜ 

 4. C²$TrjáT |�<�ÆÜ 
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121. The following is the topmost layer of soil 
1. “O” Horizon 
2. “A” Horizon 
3. “B” Horizon 
4. “R” Horizon 

 ç¿ì+~ y��ýË Hû\ýË� �|ÕbõsÁ 

1. “O” ¿ì�ÜÈ+ 

2. “A” ¿ì�ÜÈ+ 

3. “B” ¿ì�ÜÈ+ 

4. “R” ¿ì�ÜÈ+ 

122. Acid rain is due to  
1. CO, CO2 
2. NO2, SO2 
3. Hg and Cd 
4. He 

 �eT¢ esÁüeTTqÅ£� ¿±sÁD+ 

1. CO, CO2 
2. NO2, SO2 
3. Hg eT]jáTT Cd 

4. He 



123. The animal which does not have external ears 
 1. Elephant 
 2. Giraffe 
 3. Dog 
 4. Frog 
 u²V�²«#îeÚ\T ýñq³Te+{ì È+ÔáTeÚ 

 1. @qT>·T 

 2. �s�|�¾ 

 3. Å£�¿£Ø 

 4. ¿£|�Î 

 
124. Pedestrians cross the road by using 
 1. Speed Breakers 
 2. Red Light 
 3. Green Light 
 4. Zebra Crossing 
 bÍ<�#�sÁT\T sÃ&�T¦ <�³T³Å£� �|�jîÖÐ+#û~ 

 1. dÓÎ&�çuñ¿£sY 

 2. Âs&�ýÉÕ{Ù 

 3. ç^H�ýÉÕ{Ù 

 4. Jçu²ç¿±d¾+> ́

 

 
  



125. When we reduce the angle between two mirrors the number of 
images 

 1. decreases 
 2. increases 
 3. remains the same 
 4. no image is formed 

 Âs+&�T d�eTÔá\ <�sÁÎD²\ eT<ó�«¿ÃD+ ÔáÐZd�Tïq� ¿=\B y�{ì eT<ó�«>·\ 

ç|�Ü_+u²\ d�+K« 

 1. Ôá>·TZÔáT+~ 

 2. �|sÁT>·TÔáT+~ 

 3. eÖsÁTÎ �+&�<�T 

 4. ç|�Ü_+�+ @sÁÎ&�<�T 

 

 
126. Name of the first mammal cloned 
 1. Nemo 
 2. Mira 
 3. Dolly 
 4. Cumulina 

 yîTT³¼yîTT<�³>± ¿Ã¢�+>́ <�Çs� �ÔáÎÜï #ûjáT�&�q ¿¡�sÁ<�+ 

 1. úyîÖ 

 2. MTs� 

 3. &�© 

 4. Å£�eTT*H� 

 

 
  



127. Animal that aestivates in summer 
 1. Frog 
 2. Bat 
 3. Earthworm 
 4. Lion 
 yûd�$ýË d�TbÍïed��qT #áÖ�| È+ÔáTeÚ\T 

 1. ¿£|�Î 

 2. >·_Ò\+ 

 3. y�qbÍeTT 

 4. d¾+V�²+ 

 

128. The maximum displacement of a vibrating body from its mean 
position is   

 1. frequency 
 2. vibration 
 3. pitch 
 4. amplitude 
 ¿£+|¾+#û ed�TïeÚ Ôáq eÖ<ó�«$T¿£ kÍ�q+ qT+&� bõ+<û >·]w�¼ kÍ�qçuó�+Xø+ 

 1. båq'|�Úq«+ 

 2. ¿£+|�q+ 

 3. |¾#Y 

 4. ¿£+|�q |�]$TÜ 

 

129. The name of ticket issuing machine in bus is  
 �d�TàýË {ìÂ¿{Ù �#ûÌ+<�TÅ£� �|�jîÖÐ+#û $Tw�H� �|sÁT 

 1. KIMS 
 2. AIMS 
 3. DIMS 
 4. TIMS  



130. Motion of coins on a Carrom Board 
 1. Rectilinear motion 
 2. Curvilinear motion 
 3. Rectilinear and Curvilinear motion 
 4. Oscillatory motion 
 ¹¿sÁ+uËsÁT¦ MT<� _ÞøßýË �q� #á\q+ 

 1. d�sÁÞø¹sFjáT #á\q+ 

 2. eç¿£¹sFjáT #á\q+ 

 3. d�sÁÞø eç¿£¹sFjáT #á\q+ 

 4. &Ã\q #á\q+ 

 
131. Example for a Prokaryote  
 1. Hydra 
 2. Bacteria 
 3. Earthworm 
 4. Cockroach 
 ¹¿+ç<�¿£ |�PsÁÇ¿£D²�¿ì �<�V�²sÁD 

 1. �VÕ²ç&� 

 2. u²¿¡¼]jáÖ 

 3. y�qbÍeTT 

 4. u¤~Ý+¿£ 

 

 

  



132. The name of Chandrayan – 2 lander 
 1. Pragyan 
 2. Rover 
 3. Vikram 
 4. Rohini 
 #á+ç<�jáÖH� ` 2 ýË ý²+&�sY �|sÁT 

 1. ç|�>±«H� 

 2. sÃesY 

 3. $ç¿£y�T 

 4. sÃV¾²Dì 
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133. The National Forest Conservation Policy was enacted by 
Central Government in 

 ¹¿+ç<� ç|�uó�TÔáÇ+ C²rjáT n³M |�]sÁ¿£�D $<ó�H��� neT\T#ûd¾q  

d�+eÔáàsÁ+ 

 1. 1950 

 2. 1952 

 3. 1925 

 4. 1960 

 

134. Flora and Fauna means 
1. The plants and animals of a particular region 
2. Minerals 
3. Enzymes 
4. Hormones 

 b�þ¢s� eT]jáTT b�ÍH� nq>± 

 1. ÿ¿£ ç|�Ôû«¿£ çbÍ+Ôá+ýË �|]¹> yîTT¿£Ø\T eT]jáTT È+ÔáTeÚ\T 

 2. K�C²\T 

 3. m+CÉÕeTT\T 

 4. V�äsÃ�qT\T 



135. It is a collection of songs and the origins of Indian music 
 1. Rigveda 
 2. Yajurveda 
 3. Samaveda 
 4. Atharvanaveda 
 bÍ³\ sÁÖ|�+ýË �q� d�+¿£\q+, uó²sÁrjáT d�+^Ôá+ jîTT¿£Ø  

eTÖý²\T �+<�TýË �H��sTT. 

 1. �TT¹>Ç<�+ 

 2. jáTE¹sÇ<�+ 

 3. kÍeTyû<�+ 

 4. n<ó�sÁÇDyû<�+ 
 

 

136. “Go back to the Vedas” a call was given by 
 1. Swami Dayananda Saraswathi 
 2. Raja Ram Mohan Roy 
 3. Swami Vivekananda 
 4. Keshav Chandra Sen 

 »»yû<�¿±ý²�¿ì eTsÁý+&�µµ n� |¾\T|�Ú�ºÌq y�sÁT 

 1. kÍÇ$T <�jáÖq+<� d�sÁd�ÇÜ 

 2. s�C² s�eTyîÖV�²H� s�jYT 

 3. kÍÇ$T $yû¿±q+<� 

 4. ¹¿Xøe #á+ç<��dH� 

  



137. Bison hills are located in 
 1. Visakhapatnam, Vijayanagaram 
 2. Kurnool, Kadapa 
 3. East Godavari, West Godavari 
 4. Chittoor, Ananthapuram 
 uÉÕd�H� ¿=+&�\T � �ý²¢ýË¢ $d�ï]+º �H��sTT 

 1. $XæK|�³�+, $ÈjáTq>·sÁ+ 

 2. ¿£sÁÖ�\T, ¿£&�|� 

 3. ÔáÖsÁTÎ >Ã<�e], |�¥ÌeT >Ã<�e] 

 4. ºÔáÖïsÁT, nq+Ôá|�ÚsÁ+ 

 

138. Tarik-Al-Hind (History of India) was written by 
 1. Alberuni 
 2. Abul Fazal 
 3. Abdul Rajak 
 4. Amir Khusro 
 »Ô�]¿ù̀ nýÙ̀ V¾²+<� (uó²sÁÔá<ûXø #á]çÔá) nHû ç>·+<̧��� sÁº+ºq~ 

 1. �ýÙuÉsÁÖ� 

 2. n�TýÙ |��ÈýÙ 

 3. n�TÝýÙ sÁC²¿ù 

 4. nMTsY KTçkþ 

 

 
  



139. The rice provided to the poorest people under “Annapurna 
Scheme” (in Kgs) 

 »»nq�|�PsÁ� |�<�̧¿£+µµ ¿±sÁT¦ ¿£*ZeÚq� �sÁT�|<�\Å£� ç|�uó�TÔáÇ+ �ºÔá+>±  

�#áTÌ _jáT«+ (¿ìýË\ýË) 

 1. 15  

 2. 10  

 3. 20  

 4. 13  

 

140. The first woman doctor in India 
 1. Savtitri bai phule 
 2. Anand Bai Joshi 
 3. Pandit Ramaabai 
 4. Sarala Thakral 
 uó²sÁÔá<ûXø+ýË Ô=* eTV¾²Þ² yîÕ<�T«s�\T 

 1. kÍ$çÜ u²sTT |�Pýñ 

 2. �q+Buó²sTT CËw¾ 

 3. |�+&�Ôá sÁeÖuó²sTT 

 4. d�sÁÞ² Ô�ç¿±ýÙ 

 
141. In “WALTA” ‘T’ refers to 

 “WALTA” ýË ‘T’  B�� d�Öºd�Tï+~. 

 1. time 
 2. tree 
 3. temple 
 4. traffic 
 

  



142. As per Sarada Act minimum age for a girl to get married is 
 XæsÁ<� #á³¼+ ç|�¿±sÁ+ u²*¿£ $y�V�ä�¿ì ¿£úd� ejáTd�Tà  

 1. 18 

 2. 14 

 3. 12 

 4. 21 

 
143.  “Kandariya Mahadeva Sivalaya” was built by 
 1. Yasho Varma 
 2. Dhangadeva 
 3. Jayasakthi 
 4. Jayadeva 

 ¿£+<�̄ jáT eTV�²<ûe ¥y�\jáÖ�� �]�+ºq~ 

 1. jáTXËesÁ� 

 2. <ó�+>·<ûeÚ&�T 

 3. ÈjáTXø¿ìï 

 4. ÈjáT<ûeÚ&�T 

 

144. “Pinjari” is the biography of  
 1. Aaduri Ayodhya  Ramaiah 
 2. S. K. Chowdary 
 3. Shaik Nazar 
 4. Eshawaramma 
 »»|¾+C²]µµ J$Ôá #á]çÔá M]¿ì d�+�+~ó+ºq~ 

 1. �<�Ö] njîÖ<ó�«s�eTjáT« 

 2. bdt. Â¿. #ê<�] 

 3. �w¿ù H�ÈsY 

 4. �XøÇsÁeT� 



145. “Giving examples for living organisms” is related to this 
educational objective  

 1. Knowledge 
 2. Synthesis 
 3. Application 
 4. Understanding 

 »»$<�«]� d�JeÚ\Å£� �<�V�²sÁD*eÇ&�+µµ � $<�« \¿�±«�¿ì  

d�+�+~ó+ºq~ 

 1. C²ãq+ 

 2. d�+Xâ¢w�D 

 3. $�jîÖ>·+ 

 4. ne>±V�²q 

 

146. “Curriculum should be as per the age and addresses to the 
needs of the pupil” It shows   

 1. Principle of Creativity 
 2. Principle of Child-Centric 
 3. Principle of Activity based 
 4. Principle of Socio-Centric 
 »»bÍsÄÁ«ç|�D²[¿£ $<�«sÁT�\ ejáTd�TàÅ£� ÔáÐq³T¢>± y�] ned�s�\qT  

r¹sÌ³³T¢>± �+&�*µµ �~ 

 1. d��ÈH�Ôá�¿£ d�ÖçÔá+ 

 2. ¥Xø�¹¿+çB¿£�Ôá d�ÖçÔá+ 

 3. ¿£�Ô�«<ó�sÁ d�ÖçÔá+ 

 4. d�eÖÈ ¹¿+çB¿£�Ôá d�ÖçÔá+ 

 
  



147. “Write two slogans describing the need to plant trees” this 
question comes under Academic Standard  

 1. Conceptual Understanding 
 2. Asking questions and making hypothesis 
 3. Appreciation, values-sense of bio diversity 
 4. Information skills-project works 

 »»#î³¢qT H�{²*àq ned�s��� $e]d�Öï Âs+&�T �H�<�\T s�jáT+&�µµ 

 nHû ç|�Xø� � $<�«ç|�eÖD²�¿ì #î+<�TÔáT+~. 

 1. $w�jáÖe>±V�²q 

 2. ç|�¥�+#á&�+, |�]¿£\Îq\T #ûjáT&�+ 

 3. n_óq+~+#á&�+, $\Te\T`JeyîÕ$<ó�«+ |�³¢ d�Î�V�² ¿£*Ð 

�+&�&�+ 

 4. d�eÖ#�sÁ HîÕ|�ÚD²«\T`çbÍCÉÅ£�¼ |�qT\T 

 

148. The objective related to affective domain is 
 1. Attitudes 
 2. Knowledge 
 3. Understanding 
 4. Skill 
 uó²y�yûXø sÁ+>±�¿ì d�+�+~ó+ºq \¿£�«+ 

 1. yîÕKsÁT\T 

 2. C²ãq+ 

 3. ne>±V�²q 

 4. HîÕ|�ÚD«+ 

 

  



149. As per the Eswharibhai Patel Committee the student 
participatory method to teach 6, 7 classes is  

 1. Comparative method 
 2. Activity - based method 
 3. Hypothesis method 
 4. Question and Answer method 

 �XøÇ¯uó²jYT |�fñýÙ ¿£$T{ì 6, 7 e ÔásÁ>·ÔáT\Å£� d�+�+~ó+º  

çbþÔáàV¾²+#�\� d�Öº+ºq $<�«]� uó²>·kÍÇeT« |�<�ÆÜ 

 1. ÔáT\H�Ôá�¿£ n<ó�«jáTq |�<�ÝÜ 

 2. ¿£�Ô�«<ó�sÁ |�<�ÝÜ 

 3. |�]¿£\Îq |�<�ÝÜ 

 4. ç|�XË�ÔáïsÁ |�<�ÆÜ 

 

150. The following one is not in the 10 core concepts of National 
Education Policy 1986 

 1. History of independence 
 2. Equality of men and women  
 3. Students participation 
 4. Developing a scientific perspective 

 1986 C²rjáT $<�« $<ó�q+ ç|�¿±sÁ+ 10 eTò*¿£ n+Xæ\ýË ýñ�~ 

 1. uó²sÁÔá kÍÇÔá+çÔÃ<�«eT #á]çÔá 

 2. çdÓï |�ÚsÁTw� d�eÖqÔáÇ+ 

 3. $<�«sÁT�\ uó²>·kÍÇeT«+ 

 4. XæçdÓïjáT <��¿£Î<ó��� �|+bõ+~+#á&�+ 


